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function test() {

process. nextTick(() => test());
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function test() {

setTimeout(() => test(), 0);
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Environment variables or config files?

Config files 59.41%

Environment variables 37.39%

Both 2.58%
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* spawn() I
© options.detached [JTTITITTIIIIT]
© options.stdio [TTTTTITIIT]
* spawnSync() 111 spawn, [TITT, 0TI
* exec() MIITIITT, OTTIITOIT, OO
® execSync() [I1T] exec(), (IT1T], (OTTITIT] (stdout)
* execFile() M, I
® execFileSync() [I1T] execFile(), [ITIITIT] IIII1] exit code [T] 0, [I1]throw Error
® fork() (111 spawn(), (I1TJ] ChildProcess [TTITIIIIT]
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const cluster = require(' cluster'); /7] |
const http = require(' http'); /7| |
const numCPUs = require('os').cpus(). length; /7| |
(11
/71|
if (cluster. isMaster) { 4 || o[ ee=ceccessossseas
// Fork workers. //
for (var i = 0; i < numCPUs; i++) { //

cluster. fork(); /7|
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} // | OIIO (a. js)
cluster.on('exit', (worker) => { /7|
console. log( " ${worker. process. pid} died"); // |
B /7
} else { [/ | -mmmmmmm oo
// Workers can share any TCP connection /7 |
// In this case it is an HTTP server /7 |
http. createServer((req, res) => { /7 |
res. writeHead(200); /7| (IT110 (b. js)
res. end(' hello world\n'); /7 |
}). listen( 8000); // |
} /) | s=====cc=ccscssssas
/71
console. log(' hello'); /7] | 117
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void init daemon()

{
pid t pid;

int 1 = 0;

if ((pid = fork()) == -1) {

printf("Fork error !\n");

exit(1);

if (pid !'= 0) {

exit(0); // 111
}
setsid(); // I OO
if ((pid = fork()) == -1) {
printf("Fork error !'\n");
exit(-1);
}

if (pid '= 0) {

exit(0); // I O




// Ity M

}
chdir(" /tmp"); // [
umask( 0) ; // [III10
for (; 1 < getdtablesize(); ++i) {
close(1i); // I

I
return;

}
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